

미분공식표 (Table of Differential Formulas)

Table of Differential Formulas

▶ Start

▶ Start

$$\frac{d}{dx}(c)$$

▶ Start

$$\frac{d}{dx}(c) = 0$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$(cf)'$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g', \quad (f - g)'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g', \quad (f - g)' = f' - g'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g', \quad (f - g)' = f' - g'$$

$$(fg)'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g', \quad (f - g)' = f' - g'$$

$$(fg)' = f'g + fg'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g', \quad (f - g)' = f' - g'$$

$$(fg)' = f'g + fg', \quad \left(\frac{f}{g}\right)'$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g', \quad (f - g)' = f' - g'$$

$$(fg)' = f'g + fg', \quad \left(\frac{f}{g}\right)' = \frac{f'g - fg'}{g^2}$$

▶ Start

$$\frac{d}{dx}(c) = 0, \quad \frac{d}{dx}x^n = nx^{n-1}$$

$$(cf)' = cf', \quad (f + g)' = f' + g', \quad (f - g)' = f' - g'$$

$$(fg)' = f'g + fg', \quad \left(\frac{f}{g}\right)' = \frac{f'g - fg'}{g^2}$$

▶ Home

END